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axial and dipole B (T)

Alternating 1.2 T 20 MHz harmonic (79 oct 1T1h)
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Alternating 1.2 T 20 MHz harmonic (79 oct 1T1h)
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rms theta (mrad)

Alternating 1.2 T 20 MHz harmonic (79 oct 1T1h)
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rms corr momentum (%)
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Alternating 1.2 T 20 MHz harmonic (79 oct 1T1h)
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long emit (pi mm)

Alternating 1.2 T 20 MHz harmonic (79 oct 1T1h)
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Alternating 1.2 T 20 MHz harmonic (79 oct 1T1h)
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correlation

Alternating 1.2 T 20 MHz harmonic (79 oct 1T1h)
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ave ang mom (mm MeV /c)

Alternating 1.2 T 20 MHz harmonic (79 oct 1T1h)
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Alternating 1.2 T 20 MHz harmonic (79 oct 1T1h)
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ave mom - ref mom (MeV)
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